Chapter 18: Interpersonal Relations and Group Processes
100 MCQs
1.

Which of the following is NOT an example of social facilitation?

A.

Quickly reeling in fishing lines on your own
B.

Cyclists go faster when paced by another cyclist

C.

Writing poor notes in a difficult lecture
D.

A fish eats more when in a school of fish
2.

When does social facilitation occur?

A.

When in the mere presence of conspecifics

B.

When people are performing the same task together, but not interacting

C.

In front of a passive audience

D.

All of the above

3.

Which of the following concepts does NOT account for social facilitation and social inhibition effects?

A.

Arousal.

B.

Distraction conflict.

C.

Evaluation apprehension.

D.

None of the above – all are correct. 

4.
When does social presence improve behaviour?

A.

If the dominant response is an incorrect behaviour
B.

If the dominant response is a correct behaviour
C.

If the dominant response is not habitual

D.

If the dominant response is poorly learned

5.

Under what circumstances does the presence of others end in social facilitation?

A.

When tasks are novel
B.

When tasks are difficult

C.

When tasks are easy

D.

When tasks are complex
6. Latané and Rodin’s 1969 study of bystander intervention involved students overhearing that a woman working in the office next door had climbed onto a chair, and then fallen on the floor where she lay moaning in pain. To test how the students would react, there were four separate conditions: the student was alone at the time of the accident (first condition), the student was with a passive confederate (second condition), the student was with a friend (third condition), and the student was with a stranger (fourth condition). Each of the options below lists these conditions in descending order of their likelihood that the student would intervene (with most likely first and least likely last) – but which one shows the correct order?

A.

1. Third condition; (most likely) 
2. First condition;
3. Second condition;
4. Fourth condition. (least likely)

B.

1. Second condition; (most likely) 
2. Fourth condition;
3. First condition;
4. Third condition. (least likely)

C.

1. Fourth condition; (most likely) 
2. Second condition;
3. Third condition;
4. First condition. (least likely)

D.

1. First condition; (most likely) 
2. Third condition;
3. Fourth condition;
4. Second condition. (least likely) 

7.

Which is NOT a reason why people did not intervene to help save Kitty Genovese?

A.

They saw other people present

B.

They were unsure about how to interpret the situation

C.

They were embarrassed about how they would look if they rushed to help

D.

They did not feel a diffusion of responsibility

8. According to Latané and Darley (1970), which of the following is NOT one of the decisions made by a bystander when deciding whether or not to help?
A.

Noticing that something is wrong.

B.

Deciding if you have time to help. 
C.

Defining it as an emergency.
D.

Deciding what type of help to give.
9.

What is critical to whether or not bystanders will intervene in an emergency?

A.

If the emergency is serious

B.

If it looks like someone will die without intervention

C.

The number of people who are present

D.

All of the above

10.

According to the bystander calculus model, which is NOT part of what bystanders do before deciding to help?

A.

Label arousal

B.

Decide whether to take personal responsibility
C.

Realize what emotion is felt

D.

Assess costs and benefits of helping and apathy

11.

Which is NOT a factor that will encourage people to help more?

A.

Personal costs of apathy are low

B.

If they are among friends

C.

Situational norms prescribe helping

D.

They have the skills to offer effective help

12.

Students observe Elaine receiving painful electrical shocks, and are told that Elaine is either similar or dissimilar to them and that they can either leave at any time or that they must watch the entire experiment. When the students are asked to switch places with Elaine, which group was least likely to switch?
A.

Dissimilar, difficult escape

B.

Dissimilar, easy escape

C.

Similar, easy escape

D.

Similar, difficult escape

13.

Students observe Elaine receiving painful electrical shocks, and are told that Elaine is either similar or dissimilar to them and that they can either leave at any time or that they must watch the entire experiment. When the students are asked to switch places with Elaine, in which group did the majority of students offer to switch?

A.

Dissimilar, difficult escape

B.

Similar, difficult escape

C.

Similar, easy escape

D.

All of the above

14.

According to altruists why do people help?
A.

Avoid situational distress

B.

Circumvent feelings guilt

C.

Feelings of situational empathy

D.

Relieve unhappiness

15. Research has shown which of the following factors to be POOR predictors of helping? (Please highlight all relevant answers)

A.

Personality. 

B.

Mood.

C.

Reciprocity.

D.

Gender. 

16.

Which is NOT a prosocial societal norm that increases helping behaviours?

A.

Help those who help you

B.

Help when you are the leader

C.

Help those in need

D.

Help older people

17. Milgram’s (1965, 1974) series of studies into obedience found which TWO of the following to be the case?

A.

Social support does not moderate obedience to authority.

B.

Social support is the strongest moderator of obedience to authority. 

C.

Obedience is strengthened if others are obedient. 

D.

Obedience is unaffected if others are disobedient.

18.

In the Milgram paradigm, under normal circumstances, about 65% of people administered the final shock. What percentage of people administered the final shock if ‘co-teachers’ refused to participate in the experiment?
A.

O%

B.

10%

C.

30%

D.

50%

19.

In the Milgram paradigm, under normal circumstances, about 65% of people administered the final shock. What percentage of people administered the final shock if ‘co-teachers’ also gave shocks?

A.

53%

B.

65%

C.

84%

D.

92%

20.

The controversy surrounding Milgram’s (1965, 1974) research led to strict guidelines for psychological research. But which of the following is NOT a component of this code?

A.

Participants must give their fully informed consent to take part.

B.

Participants cannot withdraw once they have agreed to take part until the study has been terminated. 

C.

After participation individuals must be fully debriefed.

D.

None of the above – all are part of the code.

21.
Which is a motive for affiliation?
A.

Social comparison

B.

Anxiety reduction

C.

Information seeking

D.

All of the above

22.

Which of the following is NOT true of social comparison?

A.

We usually compare ourselves with dissimilar others. 

B.

We assess our abilities with those of others.

C.

Social comparison is most likely to occur when we are uncertain about ourselves.

D.

We assess our emotions by comparison with those of others.

23.
What is NOT a reason why we tend to like others?

A.

They are physically attractive

B.

They are nearby

C.

They are exotic

D.

We expect to have continued interaction

24.

What does the social support of a broader social network have an impact on?

A.

Resist pressure

B.

Physical health

C.

Stress

D.

Both B and C

25.

Among individuals who felt that their life was very stressful, what were the differences between those who perceived themselves to have high or low social support?

A.

The existence of stress was a more powerful predictor and there was no difference between the two groups

B

There was no difference because only REAL social support effects change not simply perceived social support

C.

People with high social support reported less physical symptoms

D.

None of the above
26. 
In social exchange theory, expected outcomes are based on: (please highlight all correct answers)

A.

Personal standards. 

B.

Future experiences.

C.

Partner’s outcomes. 

D.

Outcomes of comparable others. 

27.

According to social exchange theory, what will lead to the end of a relationship?
A.

You stop loving your partner

B.

The costs outweigh the benefits

C.

You partner receives more benefits than you

D.

You put in more effort in the relationship

28. 
A distinction can be made between social exchange theory and equity theory. But which one of the following descriptions does NOT accurately describe one of these theories?

A.

Social exchange theory regards relationships as effectively trading interactions.

B.

According to social exchange theory, considerations of costs and benefits apply to even our most intimate friendships.

C.

In equity theory, partners in intimate relationships are happier if they feel that both partners’ outcomes are proportional to their inputs.

D.

Equity theory argues that satisfaction in interpersonal relationships is unrelated to the ratio between partners’ inputs and outcomes. 

29.

According to equity theory, when will a relationship be the healthiest?

A.

Both put in and take out the same costs and benefits
B.

When you receive more benefits than costs

C.

When both partners receive more benefits than costs

D.

When both partners love each other

30.

Which is true? The investment model:

A.

Proposes that commitment to a relationship is based upon high satisfaction. 

B.

Views relationships in terms of participants’ rewards and costs.

C.

Assumes that satisfaction in a relationship is highest when the ratio of one’s own outcomes to inputs is equal to that of a relevant comparison other person.

D.

Proposes that commitment to a relationship is based upon the existence of high-quality alternative relationships.

31.

Which is NOT a characteristic of an intimate relationship?
A.

Caring

B.

Reciprocity

C.

Understanding

D.

Validating

32.

What is the most reliable sign that a relationship is in distress?

A.

Negative comparisons with other couples

B.

Perceiving a lack of equity

C.

Negative reciprocity

D.

Ignoring differences
33.

Which statement regarding the termination of a relationship is FALSE?
A.

Women are more distressed by relationship conflict

B.

It generally includes repeated episodes of conflict and reconciliation

C.

Men tend to terminate a relationship more often than women

D.

None of the above

34.

Which of the following relationship groups show signs of worse physical and mental health?

A.

Single (never married) people

B.

Widowed people

C.

Divorced people

D.

Married people

35.

Which is NOT a factor that predicts better adjustment in people who are getting divorced?
A.

Taken the initiative to divorce

B.

Being embedded in social networks

C.

Having another intimate relationship

D.

Leaving with financial independence

36.

Research on group formation generally examines:

A.

The process of and the reasons for group formation.

B.

The process of, not the reasons for group formation. 

C.

The reasons for, not the process of group formation.

D.

Neither the process of group formation, nor the reasons for group formation.

37.

Which explanation for forming a group is based on social comparison theory?
A.

To establish bonds of attraction

B.

We are attracted to the group’s member or goals
C.

To obtain consensus for our own perceptions, opinions and attitudes

D.

To create a valid form of identity

38.

According to social identity theory which is NOT part of the process of group formation?

A.

Defined ourselves as group members

B.

Enticed by the group’s members and goals

C.

Conformed to the group stereotype

D.

Made ourselves distinct from other groups

39.

One very well-established general model of group development is Tuckman’s five-stage

model (1965; Tuckman & Jensen, 1977). But which of the following is NOT one of the stages in this model?

A.

Joining. 

B.

Storming.

C.

Norming.

D.

Adjourning.

40. 
Levine and Moreland (1994) have provided a detailed account of group socialization, highlighting five generic roles that people occupy in groups. From the options given below, identify the role that does NOT appear on their list:

A.

Prospective member.

B.

New member.

C.

Full member.

D.

Life member. 

41.

According to Levine and Moreland’s account of group socialization, why do people leave groups?
A.

If the costs of group membership outweigh the benefits

B.

If there are to many full members marginalizing the majority of the group

C.

If the storming phase of development is too difficult

D.

If the person becomes independent within the group

42.

Which is NOT the purpose of roles in a group?
A.

Facilitate overall group functioning

B.

Describe a member’s place in a group

C.

Give the group an efficient structure

D.

None of the above

43.

Why was the Zimbardo prison experiment cancelled after only 6 days?

A.

Participants were not conforming to their roles

B.

Participants were conforming too extremely to their roles

C.

It was unethical

D.

Both B and C

44.

What is the critical factor of communication networks?
A.

Number of communicants

B.

Type of tasks needed to be discussed

C.

Centralization

D.

Management plan

45.

Which is NOT a potential outcome of using centralized networks?

A.

They allow peripheral members to perform their roles in simple tasks

B.

The hub becomes overwhelmed in complex tasks

C.

They are characterized by a hub that regulates communication

D.

They allow free communication along all roles

46.

Which of the following statements about leadership style is TRUE?
A.

Leadership is dependent on personality

B.

We categorize people as good leaders based on our prototype of what a leader should be

C.

Most people can be effective leaders in the right situation

D.

Extraversion has been shown to be associated with effective leadership in all situations

47.

What does a task-oriented leader focus on?

A.

Quality of the relationships in the group

B.

Getting the task done efficiently and well

C.

Harmonious group relations

D.

Group satisfaction

48. 
According to Fiedler’s (1965) contingency theory, when are relationship-oriented leaders superior to task-oriented leaders? 
A.

When they score very highly on the LPC scale.

B.

When situational control is very low.

C.

When situational control is very high.

D.

When there are intermediate levels of situational control. 

49.

According to dynamic transactional theories of leadership when are people rewarded with leadership?

A.

If they are disproportionately responsible for goal achievement

B.

If they have charismatic personalities

C.

If they behave idiosyncratically and innovatively

D.

If they have a task-oriented leadership style

50. 
Which of the following can be said to be true about transformational leaders? (Please highlight all correct answers.)

A.

Transformational leaders are often perceived to be charismatic. 

B.

Transformational leaders accumulate idiosyncrasy credits by achieving goals in an eccentric fashion.

C.

Transformational leaders are generally not receptive to change.

D.

Transformational leaders tend to be self-absorbed.

51.

What is the role of idiosyncrasy in a dynamic transactional theory of leadership?
A.

To define a good leader

B.

To reward a good leader

C.

To eliminate bad members

D.

To eliminate a bad leader

52. 
Identify the FALSE statement, with respect to group norms:

A.

Group norms can change in line with changing circumstances to become more appropriate for group members in a particular context.

B.

Norms relating to central aspects of group life are usually more general than norms relating to more peripheral features of the group. 

C.

Norms relating to group loyalty have a more restricted range of acceptable behaviour than norms relating to more peripheral features of the group.

D.

No form of deviation from group norms is tolerated.

53.

When participants are asked to make a guess about an ambiguous effect they quickly form their own ‘norm’ for the effect. What happens if later they are asked to make a guess about the same ambiguous effect in a group?

A.

The maintain their norm

B.

They are unable to give an answer

C.

The converge on a group median
D.

They fight with the group over who is correct

54.

Once a group norm has been established, what happens when people are asked to make judgments out of the group setting?

A.

They go back to their original personal norm

B.

They diverge and create a new personal norm

C.

They are more likely to conform to a new group norm

D.

They maintain the group norm

55. 
What is the difference between normative influence and informational influence?

A.

Normative influence relates to other group members but informational influence does not.

B.

Informational influence relates to other group members but normative influence does not.

C.

Normative influence relates to being accepted by other group members whereas informational influence is based on acquiring evidence about reality from other group members. 
D.

Informational influence relates to being accepted by other group members whereas normative influence is based on acquiring evidence about reality from other group members.
56.

In a simple line task, a control group made only 0.7% errors. When participants performed this task in a group of confederates who were purposely and unanimously giving incorrect responses, what percentage of errors did the participants make?
A.

0.7%

B.

12%

C.

37%

D.

56%

57.

In a simple line task, a control group made only 0.7% errors. When participants performed this task in a group of confederates who were purposely and unanimously giving incorrect responses, what happened when one confederate, who was clearly nearly blind, dissented?

A.

The participant agreed with the group

B.

The participant agreed with the dissenter

C.

The participant made almost all correct responses

D.

Conformity was reduced, though not eliminated 

58. 
Asch’s (1951, 1952, 1956) series of experiments were aimed at ruling out:

A.

Conformity.

B.

Social influence.

C.

Normative influence.

D.

Informational influence. 

59
Which of the following statements about minorities are FALSE?
A.

They are vilified as outsiders

B.

They hold unorthodox opinions

C.

They are unable to bring about social change

D.

They have limited access to mass communication

60.
What must a minority group do to achieve influence?

A.

Lay low and avoid controversy

B.

Actively create and accentuate conflict

C.

Be rigid in their stance
D.

Both B and C

61.
What can minority groups do to reduce their impact?

A.

Appear to be acting on principle

B.

Make personal sacrifices

C.

Present itself as an outgroup of the majority

D.

Present a consistent message across time

62.
What does a successful minority campaign do?

A.

Draw attention to the minority as committed

B.

Raise uncertainty amongst non minority members

C.

Convey a coherent alternative viewpoint that challenges the majority views

D.

All of the above

63.
After being exposed to a minority and majority opinion on the topic of abortion, when is minority influence on a participant’s attitude most likely to occur?
A.

During the experiment, if the participant is allowed to write the answer about the topic of abortion

B.

During the experiment, if the participant is asked to discuss the topic of euthanasia

C.

After an experiment is finished, if the participant is allowed to write the answer about the topic of euthanasia

D.

After an experiment is finished, if the participant is asked to discuss the topic of abortion

64.
What does thinking induced by a majority group lead to?
A.

Generation of more creative solutions

B.

Imitation of the course of action

C.

Use of multiple problem solving strategies

D.

Better performance on divergent tasks

65. 
Which of the following is NOT consistent with Moscovici’s (1980) suggestions about conversion?

A.

Conversion is a method used by effective minorities.

B.

Conversion leads to strong influence in public. 
C.

Conversion leads to strong influence in private.
D.

Conversion is associated with systematic message processing.
66.
Blindfolded, headset wearing participants were asked to yell as loudly as they could. What happened when participants were placed in either a small or large group and asked to yell?
A.

The group did not yell as loudly as an individual

B.

Individuals yelled more loudly in a group than alone

C.

Individuals yelled more loudly in small groups than large groups

D.

Both B and C

67. 
Social loafing does NOT usually occur when:

A.

Working on a collective task.

B.

The task is meaningless and uninvolving.

C.

The group is small. 

D.

Individual contributions to the group are not personally identifiable. 

68.
When does social loafing turn into social striving?

A.

When the task is important

B.

When the task is difficult

C.

When the group is important

D.

Both A and C

69.

According to Stasser, Kerr & Davis (1989), which of the following are rules that groups can adopt to transform diversity into a group decision? (Please highlight all correct answers.)
A.

Anonymity.

B.

Majority wins. 

C.

Truth wins. 

D.

Three-quarters majority.

70.
Social decision schemes are NOT _______.
A.

Based on explicit rules

B.

Based on implicit rules

C.

Able to make social norms personal norms

D.

Able to transform individual inputs into a group decision

71.
Which social decision scheme can create a pleasant atmosphere, though it tends to be painfully slow?

A.

Majority wins

B.

Unanimity

C.

Two-thirds majority

D.

Truth wins

The type of social decision scheme that is adopted can affect both the group atmosphere and the decision-making process. For example, unanimity often creates a pleasant atmosphere, but can make decision making painfully slow.

72.
Which social decision schemes prevail in the majority of jury trials?

A.

Unanimity

B.

Majority wins

C.

Two-thirds majority

D.

Truth wins

73.
If two-thirds, or more, of a jury initially favour guilt before any testimony is given, what will be the verdict outcome?

A.

Guilty

B.

Innocence

C.

The jury will be hung

D.

It depends on the testimony

74. 
Which are true? Group polarization: (please highlight all correct answers)

A.

Is a more extreme phenomenon than groupthink.

B.

Is the tendency for groups to make decisions that are more extreme than the average of pre-discussion opinions in the group. 

C.

Is a decision-making phenomenon in which the group returns to the position originally favoured by the average. 

D.

Occurs in highly cohesive groups that are under stress and insulated from external influence.
75.
According to group polarization, if four students are asked about their attitudes on abortion on a scale of -4 (strongly against) to +4 (strongly for) and reply (1, 0, 2, 2), what will the group’s response be when asked the same question?
A.

-1

B.

1

C.

3

D.

That they are unable to reach a consensus

76.
What causes group polarization?
A.

Mere repetition of arguments

B.

Confronting an outgroup

C.

Informational social influence

D.

All of the above

77.

Which is FALSE? Groupthink:

A.

Occurs in groups that lack impartial leadership and norms for proper decision-making procedures.
B.

Promotes the view that conformity to the prototypical view helps to differentiate the ingroup from the outgroup. 
C.

Is the result of an overwhelming desire for unanimity.

D.

Occurs in groups whose members appear to feel invulnerable, unanimous and absolutely correct.
78.
What does groupthink NOT lead to?

A.

The discrediting of contradictory information

B.

Pressuring deviants to conform

C.

An overriding desire of anonymity

D.

The stereotyping of outgroups

79. 
Which of the following would NOT be a critical issue for social psychologists studying intergroup relations?

A.

Conformity. 

B.

Crowd behaviour.

C.

Prejudice.

D.

Social Identity.

80.
Brainstorming is _____.
A.

A technique of inhibited idea generation

B.

The generation of as many ideas as possible

C.

Concerned with the quality of the ideas

D.

Generally concerns a multiple topics

81.
What is the phenomenon of production blocking?
A.

Waiting for others to speak blocks the formation of ideas

B.

Distraction by other speakers blocks the memory of ideas

C.

Both A and B

D.

None of the above

82.
Participants are placed in one of four conditions: normal brainstorming group (interactive group), a cubicle alone (alone, no communication), participants have to wait their turn to express opinions but can not here other opinions (alone, blocking, no communication), participants are in cubicles and have to wait their turn to share ideas with the group over an intercom (alone, blocking, communication). In which condition did participants generate the most ideas?
A.

Interactive group

B.

Alone, no communication

C.

Alone, blocking, no communication

D.

Alone, blocking, communication

83.

Which is true? De-individuation:

A.

Involves a strengthening of adherence to norms.

B.

Involves a strengthening of rational control.

C.

Leads to greater respect of social norms.

D.

Leads to greater readiness to violate social norms. 

84.

When people were made deindividuated by being put into nursing uniforms how did they act?
A.

They became more aggressive

B.

They became more antisocial

C.

They became more prosocial

D.

Both A and B

85.

Sherif’s realistic conflict theory proposes that:

A.

Intergroup relations determine the nature of goal relations.

B.

Goal relations determine the nature of intergroup relations. 

C.

Mutually exclusive goals improve intergroup relations.

D.

Super-ordinate goals cause competitive intergroup behaviour.

86.

If people are randomly assigned to a group and asked to perform in intergroup competitions, what happens?
A.

They have a good time playing the game

B.

They make friends with people they have a lot of common with, regardless of the group

C.

They form sects within the groups based on skill and prowess

D.

They report ingroup favoritism, at times becoming so extreme that it can lead to violence

87.

What is the minimum necessary factor to create ingroup favouritism?
A.

Mutually exclusive goals

B.

Superordinate goals

C.

Having two groups

D.

Competition

88.

What determines how the struggle for group superiority is conducted?

A.

The stability of status relations between groups

B.

The legitimacy of status relations between groups

C.

The ability to pass from one group to another

D.

All of the above

89.

Which of these is FALSE, in relation to the social identity perspective on group processes and intergroup relations?
A.

We are not defined by the groups that we belong to. 

B.

Part of our identity and how we feel about ourselves is derived from the groups we belong to, and how we evaluate them.
C.

When we categorize ourselves and others in groups, we stereotype ourselves and outgroup members in terms of our respective group memberships.
D.

Our own group identity helps to determine our attitudes, feelings and behaviours.
90.

What is the difference between prejudice and discrimination?
A.

Only a person from a majority group can discriminate, whereas anyone can be prejudiced

B.

Discrimination is a product of social cognitive research, while prejudice deals with motivation

C.

Discrimination refers to a negative behaviour and prejudice refers to a derogatory attitude

D.

Prejudice refers too a negative behaviour and discrimination refers to a derogatory attitude

91.

The authoritarian personality _________.

A.

Is characterized by a strict but fair childhood

B.

Strives for a rigidly unchanging and hierarchical world order

C.

Identifies with weaker others
D.

Despises authority figures

92.
Which criticism of the authoritarian personality is FASLE?

A.

It is not associated with various forms of prejudice

B.

It underestimates importance of situational factors

C.

It cannot explain sudden rises and falls of prejudice

D.

None of the above

93.
What is the best predictor of prejudice?
A.

Personality factors

B.

Cultural norms

C.

Parents are prejudiced

D.

Negative experiences with outgroups

94.
Which is not a characteristic of ‘modern’ racism?
A.

Denial that minorities are disadvantaged

B.

Opposition towards rectification of disadvantage

C.

Antagonism towards minorities

D.

Systematic avoidance of minorities

95.
Which of the following is a necessary factor for a contact situation that promotes intergroup relations?
A.

Contact between equal status members

B.

Clear group affiliations

C.

Participant members are seen as being typical

D.

All of the above

96.

What has research using the ‘Implicit Association Test’ (Greenwald, McGhee & Schwartz, 1998) shown?
A.

That there are more racist attitudes in South Africa and the southern United States than in the northern United States.

B.

That white Americans have relatively strong automatic negative associations with African Americans, but positive associations with whites. 

C.

That there were more instances of authoritarianism in the southern United States than in the northern United States.

D.

None of the above.

97.

The contact hypothesis refers to the idea that:

A.

Contact between members of the same group, under specified conditions, increases prejudice and hostility.

B.

Contact between members of the same group, under specified conditions, reduces prejudice and hostility.

C.

Contact between members of different groups, under specified conditions, increases prejudice and hostility.

D.

Contact between members of different groups, under specified conditions, reduces prejudice and hostility. 

98.
Which is NOT a valid criticism of the contact hypothesis?
A.

Participants do not generalize their positive perceptions to the outgroup

B.

Optimal intergroup contact is difficult on a large scale

C.

It does not reduce intergroup anxiety about meeting outgroup members

D.

None of the above

99.

There are various ways in which dissolution of ingroup–outgroup categories might occur, two of the most prominent being de-categorization and re-categorization. But which of the following descriptions of these key terms is INCORRECT?

A.

De-categorization is where people from different groups come to view each other as individuals.

B.

Re-categorization is where people from different subgroups come to view each other as members of a single superordinate group, whereas 
C.

De-categorization can pose a threat to social identity at the subgroup level. 
D.

Re-categorization is more attainable than de-categorization.

100.
Which strategy is most successful for the reduction of prejudice and discrimination?
A.

Decategorization

B.

Recategorization

C.

Multiculturalism

D.

None of the above

